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Question Number : 1 Question Id : 64635011765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is an example of higher order of cognitive learning outcome?
(1) Learning of facts and their sequences
(2) Learning roles and action sequences
(3) Learning of concepte and abstractions

(4) Learning of awareness and valuing

Options:
64535046299, 1



E4E35046200. 2
64535046201, 3
64535046202, 4

Question Number : 1 Question Id : 64635011765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535046299 1

64E350483200. 2

64535046201, 3

64535046302, 4

Question Number : 2 Question Id : 64635011766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following i=s the kev behaviour contributing to effective teaching?
(1) Summarising what was teld by a student

{2) Encouraging students to elaborate on an answer

(3) Using direct and indirect questioning
{4} Explaining concepts in a la gic al step b:.' step presentation
Options:

64535046203, 1
64535046204, 2
64535046305, 3
EAE3504E8306. 4

Question Number : 2 Question Id : 64635011766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535046203, 1
4835046204, 2
4535048205 2
64535046206, 4

Question Number : 3 Question Id : 64635011767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Instructions which encourage live participation and interaction through online classes are

called

(1) Synchronous instructions (2} Asvnchronous instructions

{3) Traditional instructions (4) Theoretical instructions
Options:

E4E35046207. 1
64535046208, 2
64535046209, 3
64535046310, 4

Question Number : 3 Question Id : 64635011767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350465307, 1
E4E35046208. 2
E4E35046209. 3
64535046210, 4

Question Number : 4 Question Id : 64635011768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What are the elements of evaluation plan?

ia) Purpose
{h) Resources
ie) Analysiz

(d) Aunthority

Select the correct answer from the options given below:

(1) (a) and (c) (2) (b)only
(3) {b), {e) and (d) 4) (a), (b) and ()
Options:

64535046311, 1
E4E35046312. 2
E4E35046213. 3
64535046214, 4

Question Number : 4 Question Id : 64635011768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T A % S T R T
{a) <Rmm

(b) TEE

(c) gt

d) iR

dr= it w2 fome @ oft = g

(1 (=) () (2) F=m(b)
(3 (b, (e) 3 (d) (4 (a), (b) 3 (c)
Options:

64535046211, 1
64535046312, 2
64535046313, 3
E4E35046314. 4

Question Number : 5 Question Id : 64635011769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which tvpe of evaluation focusses on the identification of deficiencies and difficulties of the
learner?

(1) Summative evaluation
(2) Follow up evaluation
(3) Diagnostic evaluation
(4)  Criterion — referenced evaluation
Options:
64535046315 1
64535046216, 2
64535046217, o
64535046315, 4

Question Number : 5 Question Id : 64635011769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350463151

64535046316, 2

645350463217, 2

E4AE3504683215. 4

Question Number : 6 Question Id : 64635011770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Position papers are

{1) Compiling of academic articles

{2y Providing review articles

{3} Offering a synopsis of an extended research
4 Highlighting of izsues and depiction of status

Options:

64535046219, 1
64535046220, 2
64535046321, 5
64535046322, 4

Question Number : 6 Question Id : 64635011770 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635046219, 1
4835046320, 2
64535046221, 5
64535046322, 4

Question Number : 7 Question Id : 64635011771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Casze studies are

(1) Studies conducted in areas of genetics and microbiology

{2) In-depth examination of a subject and its related conditions
(3)  Areport onthe exizsting socio-political condition

4) Specialized research in the areas of health and sanitation

Options:

64635046223, 1
64535046324, 2
64535046325 2
E4E3504E6326. 4

Question Number : 7 Question Id : 64635011771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4535046323 1
G4C35046324. 2



EAE35046325. 3
EAE35046326. 4

Question Number : 8 Question Id : 64635011772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A hypothesis iz

(1) A certain and established finding

(2) A part of the research question

{3} A strategv of evaluating data

(4) A tentative statement providing an explanation
Options:

64535046327, 1
64535046328, 2
E4E350462329. 3
E4E35046230. 4

Question Number : 8 Question Id : 64635011772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64635046227, 1
64535046328, 2
64535046329 2
4835046220 4

Question Number : 9 Question Id : 64635011773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tertiary source of data is
(1) Films, hoardings and posters
(2 Government gazette, newspapers and magazines
(3)  Information derived from both primary and secondary sources
) Data collected from policy papers

Options:

4635046251, 1
64535046332, 2
64535046333 2
64535046334 4

Question Number : 9 Question Id : 64635011773 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635046331, 1

64635046332 2

E4E35046333 2

64635046334, 4

Question Number : 10 Question Id : 64635011774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
From the following list identify the qualitative research characteristics and select vour
answer from the codes given below:
(1} Creating purpose statements and research gquestions
(ii) Stating the purpose and rezearch questions in a broad way
iiii) Cellecting data based on words from a small number of individuals
(iv) Collecting numeric data and statistical analyeis

iv) Using text analvsis and interpreting larger meanings of the findings

Code:

(1) (ii), (iii) and (v) (2) (1), (ii) and (iii)

(3 (1), (ii) and (iv) (4) (i), (i11) and (v)
Options:

645350453355, 1
E4E35046336. 2
E4E35046237. 3
64535046238, 4

Question Number : 10 Question Id : 64635011774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535046335, 1
6453504653356, 2
E4E3504E8337. 3
EAE35046238. 4



Sub-Section Number: 2
Sub-Section 1d: 646350557
Question Shuffling Allowed : Yes

Question Id : 64635011775 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehension

ERead the following passage and answer gquestions

Ferhaps what bothered the media in 19705 was the shift in liberty being suggested. For
centuries, journalists had operated on the basis of negative liberty, or freedom from external
restraints. Suddenly, however, the thrust was positive freedom, a freedom for pursuit of
zome predetermined goals. This new social responsibility zeems grounded on a school of
thought that sees negative liberty as insufficient and ineffective, somewhat like telling
people they arve free to walk without first making sure they are not crippled. Who better than
government is able to provide humanity with appropriate means? Government, even a
democratic government, iz seen by social responsibility adherents az the only foree strong
encugh to guarantes effective operation of freedom. This doss not mollify observers who find
zocial responsibility to be only slightly disguised version of authoritarianism Media
philosopher John Merrill has been one of the most outspoken critics of the theory. To him,
the proposition that pluralism of ideas should be governmentally mandated is ludicrous.
Journalists, he savs, must retain their freedom to make their own news and editorial
judgements. Even well intentioned attempts by outside groups seeking media improvement
are zelf serving, and inevitably lezsen the autonomy of journalists, Merrill maintains.
This leads us to the issue of media autonomy.

Sub questions

Question Number : 11 Question Id : 64635011776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the basiz of the operation of journalists earlier?

(1) Freedom of limited choices (2) Social responsibility
(3) Free from outside pressure (4) Government eontrol
Options:

64535046339, 1
64535045340, 2
E4E350462341. 3
EAE350462342. 4

Question Number : 12 Question Id : 64635011777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Poszitive freedom means

(1) Grounded thought {2) Purszuing eertain set goals
(3 Freedom with conditions (4) Providing identified means
Options:

E4E35046243. 1
645350462344, 2
64535046345, 3
64535046346, 4

Question Number : 13 Question Id : 64635011778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Some scholars consider social responsibility aspect of media as

(1) Negative freedom (2) Pluralism
(3) Democratization of media (4) Authoritarianism
Options:

64535046347, 1
64535046348, 2
64535045349, 3
E4E35046350. 4

Question Number : 14 Question Id : 64635011779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to, John Merrill, seeking improvement in media, is

(1) Appropriate (2) Well-intentioned
3 Inevitable (4) Self-serving
Options:

64535046251, 1
64535046352, 2
645350465352, 3
E4E35046354. 4

Question Number : 15 Question Id : 64635011780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The passage eritically analvses
(1) Operation of journalists
(2) Mandate for government
(3) Social responsibility theory of media
4 Remimented autonomy of journalists
Options:
4535046355, 1
E452504E8356. 2
E4535046357. 3
64535046358 4

Question Id : 64635011775 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635011776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RS T & FTE R H A R oy
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Options:

64535046239, 1
645350462340, 2
64535046341, 3
EAE3504E8342. 4

Question Number : 12 Question Id : 64635011777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535046243, 1
4835046344 2
4535048245 =2
64535046246, 4

Question Number : 13 Question Id : 64635011778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535046347, 1
645350465348, 2
E4E35046249. 3
E4E35046250. 4

Question Number : 14 Question Id : 64635011779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350465351, 1
E4E35046352. 2
E4E350462353. 3
645350462354, 4

Question Number : 15 Question Id : 64635011780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635046355 1

646535046356, 2

64635046357 2

64535046355, 4

Sub-Section Number: 3
Sub-Section 1d: 646350558
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635011781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A):  Media entertainment does not enhance the cultural level of society.

Reazon (R): Most media entertainment encourages ezcapism, not content guality

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) 15 true, but (R) 1s false

i4) (A) iz falze, but (R) iz true

Options:

64535046359, 1
64535046360, 2
48350463261, 2
64535046262, 4

Question Number : 16 Question Id : 64635011781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635046259, 1
64535046360, 2
64535046361, =
64535046362, 4

Question Number : 17 Question Id : 64635011782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Communieation through colours can result in
{a) Aesthetic codes
{b) Cultural codes
{e) Semantic codes
(d) Binaryv codes

Choosze the correet answer from the options given below:

(I} (a)and(d) 2y (b) and {(c)
(3)  (b)and (d) 4} (a)and (b)
Options:

64535046362, 1
E4E3504E8364. 2
EAE35046365. 3
EAE350462366. 4



Question Number : 17 Question Id : 64635011782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35046363. 1
645350462364, 2
64535046365, 3
645350465366, 4

Question Number : 18 Question Id : 64635011783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the communication process, signs derive meanings through
(1) The subjectivity of various components
(2) The objectivity of the decoder
(3 The network of inter-relations

4) The neutrality of the channel

Options:

4535046267, 1
64535046368, 2
64535046369 o
64535046370, 4

Question Number : 18 Question Id : 64635011783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535046367, 1

64535046368, 2

64535046369, 3

E4EZ504E8370. 4

Question Number : 19 Question Id : 64635011784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Language of communication also constitutes

(1) The random world {2} The social world
(@)  The divine world {4} The unsanctified world
Options:

64535046371, 1
EAE3504E8372. 2
EAE350462373. 3
645350462374, 4

Question Number : 19 Question Id : 64635011784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350462371. 1
64535046372, 2
64535046373, 3
64535046374, 4

Question Number : 20 Question Id : 64635011785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Connotative communication inside the elassroom is

(1) Direct (2) Critical
(3) Implicit (4) E=xplicit
Options:

64535046375, 1
64535046376, 2
EAE3504E8377. 3
E4E35046278. 4

Question Number : 20 Question Id : 64635011785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350462375. 1
EAE350462376. 2
BAE35046377. 3
64535046375, 4

Question Number : 21 Question Id : 64635011786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Choosze the mizsing term out of the given alternatives : QPO NML, EJI,

(1) HGF (Z) CAB
(3) JEL 4y GHI
Options:

64535046379, 1
E4E35046380. 2
E4E35046281. 3
645350462382, 4

Question Number : 21 Question Id : 64635011786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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QPO, NML, KJI,

(1) HGF (Z) CAB
# JKL (4 GHI
Options:

64535046379, 1
64535046380, 2
E4E35046381. 3
EAE350462382. 4

Question Number : 22 Question Id : 64635011787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The zum of all even natural numbers between 1 and 21 is

(1) 3280 (Z)y 3321
51] 1646 (4) 1840
Options:

64535046283, 1
645350462384, 2
64535046385, 3
645350465356, 4

Question Number : 22 Question Id : 64635011787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3280 (2 3321
(3 1646 (4) 1640
Options:

EAE35046383. 1
E4E35046284. 2
645350462385, 3
64535046386, 4



Question Number : 23 Question Id : 64635011788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a bag, there ave coins of 5 ps, 10 ps and 25 psin the ratio of 3:2:1. If there are Re. 80 in all
how many 5 ps coins are there?

(1) 100 (2 200
(% 300 (4) 400
Options:

E4E350462387. 1
645350462388, 2
645350462389, 3
64535046330, 4

Question Number : 23 Question Id : 64635011788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frdiadidotm WP BRI 2 logmidi R e s 0w i, @
= 5% F femfom €7

(1) 100 (& 200
(3 300 (4 400
Options:

E4E350462387. 1
645350462388, 2
64535046389, 3
64535046330, 4

Question Number : 24 Question Id : 64635011789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mansj's commizsion is 10% on all sales upto Rs. 10,000 and 5% on all sales exceeding this.

He remits Rs. 75,500 to his company after deducting his commission. The total sales will
come out to be

{I) Rs. 78000 {2y Rs. 80,000
(3  Hs 85,000 {4y Rs, 90,000
Options:

645350462591, 1
64535046392, 2
645350465333, 3
E4E350463594. 4

Question Number : 24 Question Id : 64635011789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F T 10,000 7= $ fikt & == 1 wiioe 10% @ v o #1500 F sme w9 5% R
W FHEH HEH % AE A% FFH FFE F T 75,000 woR w0 #) T 1 % ae0ta am 3y

(1) ¥ 78,000 {2) %30000
(3 ¥ 85,000 4) T 20,000

Options:



E4E350462391. 1
64535046382, 2
645350463593, 3
645350463394, 4

Question Number : 25 Question Id : 64635011790 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
The simple interest on a certain sum of money for 3 vears at 4% per annum is half the

compound interest on Re. 2,000 for 2 vears at 10% per annum, The sum invested on simple
interest iz

(1) Re. 8750 (2) Re. 1,750
(3 Rs. 2,500 (40 Rs. 3,500
Options:

6453504623595, 1
64535046336, 2
64535046337, 3
E4E350462395. 4

Question Number : 25 Question Id : 64635011790 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

foredt vt w 4% ot & T E 3 & = mumm s € 2000 $ geuin R Tw 10% wids S m e 2
i ¥ Twglg TF F A R WmuT e § ey T e #5 i am A7

(1) T 8,700 2y TL7a0
)] ® 2,500 {4y * 3500
Options:

E4E35046395. 1
E4E35046396. 2
64535046357, 3
645350463358, 4

Question Number : 26 Question Id : 64635011791 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

If proposition ‘some milk is eurd’ is taken to be true then which of the following propositions
can bE' fﬂlEE?

(1) No milk i= curd {2y All milk is curd
(3 Some curd is milk {4} Some milk is not curd
Options:

E4E350462399. 1
E4E35046400. 2
64535046401, 3
64535046402, 4

Question Number : 26 Question Id : 64635011791 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes

Yes



Itz 7 T To T T AW ¥ F W 9 9w Fetatan suR a5 2 | e wm e

(1) wrdgm o o wm R (2) =+ 78 o g R
(3 FowHwEmY 4 ¥o 78 = o gm
Options:

E4E350462399. 1
E4535046400. 2
64535046401, 3
64535046402, 4

Question Number : 27 Question Id : 64635011792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises with four conclusions drawn from them. Which of the
following conclusions eould be validly drawn from the premizes?
Premises: (i) All cats are dogs

(11) All dogs are cows

Conclusions:

{a) All cats are cows
(b} Some cows are cats
{c) All dogs are cats
(d) Nocow isdog

Select the correct answer from the options given below:

(1) (b, (c) and (d) (2) (d)only
3) (a)and (b) 4 (b)and (d)
Options:

E4535046403. 1
E4535046404. 2
64535046405, 3
64535046406, 4

Question Number : 27 Question Id : 64635011792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9/ 7 e are e e # Faam A e e o #) o Al | Reetehan 9 8 w90 e
et = o E7

AT A (1) = g 54 )
(ii) =] Eu_;l T #

foreprd - (a) =t fafzsi T 8)
(b) F T Tt £
(c) =it %= Tagdh &
(d) = o T R

Jr= fim o faeed O O ot 3w 1 == Sfa

(1) (b}, (c) =i (d) (2) === (d)
(3) (a2 b 4 (b)#id)
Options:

E4E35046403. 1
E4E35046404. 2
64535046405, 3



E4E35046406. 4

Question Number : 28 Question Id : 64635011793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which method of arriving at knowledge the emphasiz is on both proceeding from

particular to general and from general to particular in a combined way?

(1) Inductive method
(2) Deductive method
{3) Scientific method
{4) Analogieal method
Options:
E4525045407 1
64535046408, 2
64635046409 2
64535046410 4

Question Number : 28 Question Id : 64635011793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 7% T4 1 fEm fafa § dgw e @ fafe & anrm @ o ofn e @ fafm o smoEm W
7= fam = 2

(1) s fafy

(3 T i

(3) e fafy
(4 HgEs fafa
Options:

64535046407, 1
64535046408, 2
E4E35046408. 3
E4E35046410. 4

Question Number : 29 Question Id : 64635011794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identifj.‘ the reasoning in the follmving arguments

‘A pilot without flight plans is like an artist without paints’.

(1) Analogical {2}  Deductive
(3) Induetive (4) Hypothetical
Options:

64535046411, 1
64535046412, 2
E4E35046413. 3
EAE35046414. 4



Question Number : 29 Question Id : 64635011794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frtalias 7= aag § T & TH0 W TEaE ey

fam el 7=m O aren R, TION % 9 FEET & TE g A

(1) o= (2) T
{3} AT (4 O
Options:

E4E35046411. 1
E4E3504641%2 2
64535046413, 3
64535046414, 4

Question Number : 30 Question Id : 64635011795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The proposition ‘some trees are green’ is equivalent to which of the following propoesitions?
{a) Many trees are green

(b}  Some green things are trees

() Some green things are not non-trees

id) Trees are usually green

Select the correct answer from the options given below:
(1) (&), (&), () and (d)
(2)  (b)and (d)
(3 {a) only
4 (c)and (d)
Options:
64535046415 1
64635046416 2

64535046417, 3
E4E35046415. 4

Question Number : 30 Question Id : 64635011795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T o Yo R ¥ Frefofen § @ fe vhew ¥ wed 27
(&) = Tw

(b) %= 7l == 9z 4|

(©) %o ¥ = -1 7 #

(d) W F A A

gt fom o forre & & wh T TR i
D (@), (), (@) #h(d)

(2) (b))

(3) wEr(a)

@ (o) ()

Options:

64535046415, 1
64535046416, 2
64535046417, 2
4835046418 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

4
646350559
Yes

Question Id : 64635011796 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (31to 35)
Juestion Label - Comprehension

Consider the following two tables (I and II) that show the percentage wise distribution (%) of
the number of laptops sold by a shopkeeper during a period of six months from April to
September 2018 and the ratio between the number of laptops sold of brand HF (H) and
brand DELL (D) during the same six monthe A total of 45000 laptops have been sold during
these six months. Study these tables I and II and answer the questions that follow

I. Sale of laptops Month wise II. Laptops Brand Ratio
Name of Month | % of Lapteps | | Name of Month | Ratis
April 17 H|D
May 22 April 8|7
June 25 May 4156
July g8 June 3|2
August 12 July 7]5
September 16 August 718

September 7|9

Sub questions

Question Number : 31 Question Id : 64635011797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the ratio of the number of laptops sold of brand D during April to those sold during
September of the same brand?

(1) 119 : 145 (2 116:1356
(3) 119 : 135 4 119:130
Options:

64535046415, 1
64535046420, 2
64535046421, 3
EAEZ5046422, 4

Question Number : 32 Question Id : 64635011798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 35% of the laptops =old of brand H during August were sold at a discount, how many
laptops of brand H during that month were sold without a discount?

(1) 8a2 (2y 1835
(3) 1638 4 B85
Options:

64535046423, 1
645350465424, 2
E4E35046425. 3
EAE35046426. 4

Question Number : 33 Question Id : 64635011799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the chop keeperearned a profit of ¥ 434 on each laptop cold of brand D during July, what
was his total profit earned on the laptops of that brand during the same month?

i1 T 6,51,900 {(2) ¥ 6465000
(3 £ 6,49, 500 {4) T 6,51,000
Options:

EdE35046427. 1
E4E35046428. 2
64535046425, 3
64535046430, 4

Question Number : 34 Question Id : 64635011800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The number of laptops sold of brand H during April is approximately what percent of the
number of laptops zold of brand H during September?

() 110 (2) 140
(3) 130 4 130
Options:

64535046431, 1
E4E35046432. 2
E4E35046433. 3
64535046434, 4



Question Number : 35 Question Id : 64635011801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the total number of laptops gold of brand D during May and June together?

(1) 9800 (%) 10000
(3) 10500 (4) 15000
Options:

E4E35046435. 1
E4E35046436. 2
64535046437, 3
64535046435, 4

Question Id : 64635011796 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label @ Comprehension

Frafafian & mifemmad (1 o I1) w0 fem 0 o oim, 2018 & fiman, 2018 7% & o 9+ &
2T T R 0 F T Aveia i e w1 wiveran G (% 9) i e #) e f, 59 5w
= ¥@y F 2= #vs HP (H) # #vs DELL (D) ¥ = 7o @y 1 w2 5 4= o5 = o
T T 1 o % e % 45000 Seey # fa ) wien [ et W e woTan Se
fom o w9 =1 I 2

I #mefe & ofmam fslt | | L @y wfvsi =1 o
E A A % | | Wi o A | aEem
e 17 H|D
i 22 April 8 | 7
= 25 May 4 | D
ﬁﬂ'li 8 June 312
T 12 July T|6
fean 16 August 7(8
September T |=

Sub questions

Question Number : 31 Question Id : 64635011797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SMEtE I DEs R MATN A sh i e s i R M A T =

e R

{1y 119:145 {2 116:135
(3) 119: 135 i4) 119:130
Options:

64535046419, 1
645350465420, 2
EdE35046421. 3
BAE35046422. 4

Question Number : 32 Question Id : 64635011798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



R F g ars H % dwfu 35% % foms (o) e ma s sfH s g as H+
faem dwefy famn frome % 39 mo?

(1) asa2 (& 1635
i3 1838 (4) 885
Options:

64535046423, 1
64535046424, 2
E4E35046425. 3
EAE35046426. 4

Question Number : 33 Question Id : 64635011799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afg, TR F For % 2 wive D # wed Aedt # W T 434 1 e 1 W s e F 2
T AivE & AT W e o W fEen e

(1) ¥ 6,51,900 (2) T 646500
{3) ¥ 6,40,500 {4 ®§,51,000
Options:

64535046427, 1
64535046428, 2
E4E35046429. 3
E4E35046430. 4

Question Number : 34 Question Id : 64635011800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferer & 2 wfs H 5 39 e fwfe 5 guw 5 wim fey afrmm =9 #ive 5 9 sfo d 39 my

(1) 110 (2) 140
{3 130 4 130
Options:

64535046431, 1
E4E35048432. 2
E4E35046433. 3
E4E35046434. 4

Question Number : 35 Question Id : 64635011801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=i #R 97 o wE w e @ve D % % e ae i

(1) 9500 (2) 10000
3 10500 (4) 15000
Options:

E4E35046435. 1
E4E35046436. 2
64535046437, 3



EAE35046435. 4

Sub-Section Number: 5
Sub-Section 1d: 646350560
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635011802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why would BCC: be used in an &-mail?

(1) BCC: allows the recipient to identify all the other recipients in the list when a group
email address is used

(4] BCC: allows the sender to indicate who the email is for if there is more than one

recipient

(3 BCC: allows the sender of a message to conceal the recipient entered inthe BCC: fisld

from the other recipients
i4) BCC: allows recipients to be vizible to all other recipients of the message
Options:
EdE35046439. 1
E4535046440. 2
64535046441, 3
64535046442, 4

Question Number : 36 Question Id : 64635011802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
7w § BCC : =1 waim =9 fem = &7

(1) == e @ Fm = v fem = 2 1 Sfid BOC - % e 9 99 9 & o = sfatr 4
TR ¥ HET B

F L Y

2 TEoswidsiEiiMEH ARG IEECC. T EMTE R it
T s fom 2

(3) ol &89 = I9s BCC: % wam & BCC : Fivs & wiae St 36 we=m o= wfufrai & foar e
R 3

(4 HfEft BCC . =1 wam = e &9 & o wofi sl =50 2w wen €

Options:

C4Ez25045429 1

c4dez2E048440, 2

CAE3E046441 . 2

CAEZE046442 4

Question Number : 37 Question Id : 64635011803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



With respect to computers, which one of the following best deseribes phishing?
{1} A malicious program installed on a svztem that staye concealed to avoid detection

tﬁj A method of b}'passing normal authentication prucedureﬁ. over a connection to a

network
(d) A tvpe of unsolicited bulk email of identical messages sent to numerous recipients

(4) An attempt to acquire sensitive information for malicious reasons, by masquerading
as a trustworthy entity
Options:
E45350464435 1
64535046444 2
64635046445 =3
64535046446 4

Question Number : 37 Question Id : 64635011803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fro & wed |, Featatas 5 @ i9-w feHm (phishing) 1 wEiias dw =9 § sanEaara & 27

() == fores = omntm o glen o w1 v o E® a=e % fom e v w2
(2) fodh Sk & e S5 W oraen e W W aries w5 A
(3) = IR % TS T wee we (BEE) W T W w1 e av e

(4) o Fvawa zaltE & =9 H SUEY T gHiG B HEEATTE SHET T S w1
Options:
64535046443 1
645350465444 2
645350465445 =
G4AE350465446. 4

Question Number : 38 Question Id : 64635011804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an example of proprietary system software?

(1) Linux (2} Mierosoft Internet explover
()] Microsoft office (4 Microsoft windows
Options:

E4E35046447. 1
EdE35046448. 2
64535046445, 3
64535046450, 4

Question Number : 38 Question Id : 64635011804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frafafian & § Fi3-m W fows Siwam w1 e

(1) e (2) =TSR T W
(3)  wrERmEiE WEE (4) = e
Options:

64535046447, 1
64535046445, 2
64535046449, 3
E4E35046450. 4

Question Number : 39 Question Id : 64635011805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jatin’z laptop has a LCD sereen. The acronym LCD stands for :
(1) Light Crystal Display

(2) Liquid Compact Display

(3 Light Compact Display

(4) Liguid Crystal Display

Options:

64535046451, 1
64535046452 2
64535046453 =2
E4E35046454 4

Question Number : 39 Question Id : 64635011805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= % whedte § U T H % S 31 LCD Fratatan o | feee diamen 27

(1) vz fFemm f=@t (Light Crystal Display)

(2 ffre =iedge 529 (Liguid Compact Display)
{3) = w9z 7= (Light Compact Display)
(4) fafre frmzw feot (Liguid Crvetal Display)

Options:

64535046451 1
64535046452, 2
64535046452 o
64535046454 4

Question Number : 40 Question Id : 64635011806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A computer network which is used within a building is called a

(1) WAN
(2) MAN
{3  LAN
i4) SAN
Options:

64535046455, 1
E4E35048456. 2
E4E35046457. 3
E4535046458. 4

Question Number : 40 Question Id : 64635011806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forelt wam & o T SETen SRR Ao 27

(1) WAN
2) MAN
(3) LAN
4) SAN
Options:

64535046455, 1
64535046456, 2
64535046457, 3
E4E35046458. 4

Question Number : 41 Question Id : 64635011807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following dizasters belongs to the category of nuclear disasters?
(a) Fukushima dizaster

(b} Chernobv] disaster

() Three mile Island incident

{d) The love canal disaster

Choose vour answer from the options given below:

(13 (&), (b) and (e)

(2 (a), (B) and (d)

(3] (a), (c) and (d)

(4) (b), (e) and (d)

Options:
64535046459 1



E4E35046460. 2
64535046461, 3
64535046462, 4

Question Number : 41 Question Id : 64635011807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafafes & 8 33 = s ity s 0 a0l = st 27
(8) FEEE A
(b) =T ATy
() ot mrgw wedE W
() T2 v e feamm
fret fam o Fedl 5 9 9 3 1 =99 ey

Tz
() (a), (b) 3 (e
2 (a), (b) ()
3 (a), () #(d)

4 (b}, (c) = {d)

Options:

64535046459, 1
64535046460, 2
64535046461, =
48350464682 4

Question Number : 42 Question Id : 64635011808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Statement I -  Most of the member countries in the International solar Alliance are
located between the tropic of cancer and tropic of Capricorn

Statement [I — Japan is a member country of the International solar alliance,

Which of the above statement isfare correct?

(1) I only {2y IIonly
(3 EothI and II (4) Neither I nor II
Options:

64535046463, 1
64535046464, 2
645350465485, 3
E4E350464E66. 4

Question Number : 42 Question Id : 64635011808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



wo (1) : SEeTe SieT U W A T o W T S e o % A e #
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(1) F== (2) w0

@ @¥EaADIE (4) ()= D H & Frf 78
Options:

64535046463, 1
64535046464, 2
E4E3504684E5. 3
EAE35046466. 4

Question Number : 43 Question Id : 64635011809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements in the context of Millennium Development Goals (MDGs)
adopted by the United Nations

{a) [Eradicate extreme poverty and hunger
)  Impreve maternal health

i} Responsible consumption and produetion
id) Reduce child mortality

Choose the correct answer from the options given below

(I) (&), (b)and () (2) (b)), (e} and (d)
(3  (a), (b)and (d) (4) (a), (c) and (d)
Options:

64535046467, 1
64535046468, 2
645350465469, 3
E4E35046470. 4

Question Number : 43 Question Id : 64635011809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T T g T T T e we (MDG) e 3 Pttt we m fam S
{a) =% fefm ot el = =g
(b) T TEEE H R
(€) SotEmamET S #Hit semeA
(d) =T - = FH F
dret Tom o fereal & © W 99 w1 W iy

T
(1 (@), (b) ¥ (e) (2 (b), () ()
3 (), (b) 3 () (4 (a), (c) 3 ()

Options:

64535046467, 1
64535046468, 2
645350465469, 3
E4E35046470. 4

Question Number : 44 Question Id : 64635011810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Assertion (A) - Night time temperatures in the central parts of a city are generally higher

than those over the surrounding rural areas

Beason (B)- Radiation losses over the urban areas are less than that over the rural

areas

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(:3) (A) is true but (R) is false

(4) (A) iz falze but (R) iz true

Options:

64535046471, 1
4835046472 2
4535046473 2
64535046474, 4

Question Number : 44 Question Id : 64635011810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At (A) - Tt wrer = To7 W E T F NS SU0-TT0 F TEW A9 % SSwieE e o
e W At B 2
T (R): TE B H gETEl TErR R W &6 § geE e wEE | R g 2

4= i o faeewl 5§ W I = w99 wian

() (A &R ®) 7= =6 1 R), (A) F =6 e

(2} (A) ¥R (R) =9 =8 # v (R), (A) F w6 e 9 R
(3 (A Tt = (R) T #

4 (A Ewa R) w2
Options:
645350464711
64535046472 2
64E350468473 2
64535046474, 4

Question Number : 45 Question Id : 64635011811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Pariz Agreement aims to limit the temperature rise in thiz centurv by how many

degrees Celsius above the pre-industrial levels?

(1) 1°C & PC
3 05°C 4 3°C
Options:

E4E35046475. 1
E4E35046476. 2
6435046477, 3
64535046475, 4

Question Number : 45 Question Id : 64635011811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ui FAH F FEI I WA | G At F - i T | e 5 afthes s it
FET
@ 1°c @ 2C
(3 0.5°C 4 3°C
Options:

64535046475, 1
64535046476, 2
64535046477, 3
E4E35046475. 4

Question Number : 46 Question Id : 64635011812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following coordinates, promotes and funds research activities of all =oeial
sciences disciplines?

(1) ICPR, New Delhi

(2) ITAS, Shimla

1] ICS5R, New Delhi

(d) NUEPA, New Delhi

Options:

64635046479, 1
645350464580, 2
645350464581, =
4835046452 4

Question Number : 46 Question Id : 64635011812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pt & 2 s gwn oo fama 6 oot srened <6t s wiafata =0 o = 2, 391 mmmE

1 2 st T fEm = R
(1) ICPR, # f&di
(2)  IIAS, fimen

(3) ICSSR, 7¢ figt
{4 NUEPA, = &
Options:
cdE3E04e4749 1
CAEZEN4EABS0, 2

E4E350468481. 3
EAE35046452. 4

Question Number : 47 Question Id : 64635011813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"Gvanvami” launched by IGNOU to cover the educational needs of India refers to
(1) Satellite based edueational T V. channel

(2) Educational F.M. Radic network

{3) Global imitative of academic networks
{4 MOOCs
Options:

64535046453, 1
64535046454, 2
64535046485, 3
EAE3504E8456. 4

Question Number : 47 Question Id : 64635011813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T WA Fi A T S w5 e #6172

(1) TqrE i fahes F S
2y g Tew. = G
(3)  wrTeeE Toww 4 ATes T

4 RS
Options:
64535046453, 1
64535046454, 2
64535046485 2
G4AE3E04E8456. 4

Question Number : 48 Question Id : 64635011814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A special focus on the problems of examination svstem of India formed a part of which one of
the following reports?
(1) Report of the Caleutta university commission
(2 Report of the University Education commission (1964-66)
] Hartog committee report
i4) Report on standards of University edueation UGC (1965)
Options:
E452504684587. 1
E4535046488. 2

64535046455, 3
64535046430, 4

Question Number : 48 Question Id : 64635011814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA | wiE gl %1 seeme w fawn ow faetatan ford | @ e o ford s am 27
(1) wewn vt s 6 fofd
() Tawarme Mo ammm #1 ford (1964-66)
(3) o w= A T
(4 gt et e w1 o aEdh T (1965)

Options:

E4E35046457. 1
645350464588, 2
64535046459 o
64535046430, 4

Question Number : 49 Question Id : 64635011815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following universities is not among the first three that were established

during 18577

(1) Caleutta

(2) Bombay

(3 Delhi

() Madras
Options:

E45350464591. 1
64535046452, 2
64535046433, 3
64535045434, 4

Question Number : 49 Question Id : 64635011815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafefan & 3 $hh-= et 1857 F 209 =i wiars v 9 et 9 38 27
(1) ==
(2 ==
(3 &
4 ===
Options:

645350464591, 1
645350464382, 2
64535046433, 3
E4E35046454, 4

Question Number : 50 Question Id : 64635011816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following Ancient Indian universities, the culture and civilization of Tibet
was bult mainly through the writings of the scholars?

{(l) Nalanda
2 Vikramsila
{3y  Jagaddala
{4y  Mithila
Options:
E4535046435. 1
E4E2504E848E, 2

E4E35046437. 3
E4E350464398. 4

Question Number : 50 Question Id : 64635011816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
f=fafem 5 5 fem w=i T favataares & oem: fagal $ oem % 9iom | frem ) w57 o
=M #1 A g @ ?

(1 T

(2)  femsfaren

(3 A

CIR )
Options:

64535046435, 1
645350465436, 2
E4E35046457. 3
E4E35046438. 4
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Question Number : 51 Question Id : 64635011817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TRl AT fagers affemrenl il $7 $UoE 7o 1@ onER o
afehs ?

(1) UZ A YEHIER A

(2) U AUl SR AT
(3) U2 T IR TE1-deaET SAdda I
(4) wega

Options:

64535046499, 1
64535046500, 2
64535046501, 5
64535046502, 4

Question Number : 51 Question Id : 64635011817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TNTR! SThfaers arfiewrn | $7 FUaE 7aw q@ snur A
afes ?
(1) UE A1 TEEEH Ada
(2) UE AT AFTH TEATAE
(3) U2 1 IEER ETI-dwH AT T

(4) regan

Options:

64535046499, 1
4835046500, 2
4535048501, 2
64535046502, 4

Question Number : 52 Question Id : 64635011818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ggeha! (frd F 9 F0 TEs g5 ?
(@) ATRICR Jfdsal qa-

(@) 3TER! Y qAT L7l

ay  TaEeRgwt e

() FE-HT TG
(1) =, @, T
2) =,%E, 9
(3) =, M, "
4) ®, M H

Options:

64835046503, 1
4535048504, 2
64535046505, o
64535046506, 4

Question Number : 52 Question Id : 64635011818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gl T $7 9 FU IEew T ?
(@) ATRIEHS Hfdsal qa-
(@) STEH! e FAT LT
)  EEfgeh! faerman

(=) HE-FE TS
(1) =, T
(2) %, G 9
3) =, M, "9
4 9 'MH

Options:

4535046503 1
64535046504, 2
64535046505, o
64535046506, 4

Question Number : 53 Question Id : 64635011819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TYHEAT ‘Gd FHHe! Fagmn T anten’ {6 HAevas g9 ?
(1) g Igvg i fHir
(2) shg-sfem Ffga woeT =
(3) WS ifec e mie i
(4) TueEe Freesm 71w

Options:

4835046507, 1
4535046508, 2
64535046509, o
64535046510 4

Question Number : 53 Question Id : 64635011819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TIIHEAT o Freieh! Hagm T @en 67 sawas g9 ?
(1) gl Igv7 TR FHir
(2) shy-sidem fifga TR =mmEn T
(3) WusEw ife giem e |
(4) S frem fa Tt B

Options:

4535046507, 1
64535046508, 2
64535046509 =
64535046510, 4

Question Number : 54 Question Id : 64635011820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
YTl TSI FeEsHT I, W, T S 9SS SR [F), [@], [7]
At [=1) e = g1 ?

(1) TIEE

(2) FIFed
(3) UTEEEE
4) Fmmeadd

Options:

64635046511, 1
64835046512 2
453504685132 =2
64535046514, 4

Question Number : 54 Question Id : 64635011820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Jareft ATt HeguT W, W, T 1 =W SegHT S [)], [@], [1]
At [=) e e &1 ?

(1) FIEAE

(2) “hlhcd
(3) UTEETE
4) Fommeast

Options:

4635046511, 1
64535046512, 2
64535046513 =
64535046514 4

Question Number : 55 Question Id : 64635011821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT T e Freraers i 1 aTEdie! @ S STEUs AT Hiieee
7 ?

(1) st

(2) wah

(3) wHifcramE

(4) smfa

Options:

64635046515, 1
64535046516, 2
64535046517, =
4835046518 4

Question Number : 55 Question Id : 64635011821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

dTeh T ] Hre-gers a1 Udd il T S STEUS U AR
w7 ?

(1) s

(2) wgEr

(3) whieEE

(4) v

Options:

645350468515, 1
64535046516, 2
4835046517, 2
45350468518 4



Question Number : 56 Question Id : 64635011822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HERG FEAEREEG S AT=hes Teedl 7 3 2
(1) TEH HiaesHl 3= FiE TREH AT A=A T
(2) e Tfel 7 TfaEE srerE
(3) &N FHer-<aT T RIITET TR SATERAT SATAT T4
(4) P wfa favfa gu, $wi Tt ST T

Options:

645350468519, 1
64535046520, 2
64835046521, 2
4535048522 4

Question Number : 56 Question Id : 64635011822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HEHA HER R S A=Thars Teadl 975 31 2
(1) TEF FEEEH 3= WHT RSS! 0T A=A T
(2) ISR el T Tfgda e ™
(3) &N Fen-=aT T REIITET TR SATEHRAT SATA=T T4
(4) T Hia fosmwfa gw, $o TR e T

Options:

4635046519, 1
64535046520 2
64535046521, =
64535046522 4

Question Number : 57 Question Id : 64635011823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s afzm wga ‘aft fagra’ =i falg $ S snamom W ?

(1) STaed

(2) AufEgm
(3) A=
(4) STadiaTedHan
Options:

64535046523, 1
64535046524, 2
E4E3504E8525. 3
EAE35046526. 4

Question Number : 57 Question Id : 64635011823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

st Tfen wget ‘@ft fagra = fata 5= $ue s m 2

(1) eTaeen

(2) TafEgan
(3) A=
(4) STadiaTeHdl
Options:

64535046523, 1
64535046524, 2
645350465525, 3
EAE3504E852E6. 4

Question Number : 58 Question Id : 64635011824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT HIH TCH A STt staeen Fat 79 7

(1) Tfestaes
) T
(3) Tt
(4) HEIgTS
Options:

EAE35046527. 1
E4E35046528. 2
64535046525, 3
64535046530, 4

Question Number : 58 Question Id : 64635011824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AET HH TR AT (HAGH! e FEdl §9 7

(1) TR
(2) fgri®
(3) Teafasas
(4) HAIH=F
Options:

64535046527, 1
EAE3504E8528. 2
EAE35046529. 3
E4E35046530. 4

Question Number : 59 Question Id : 64635011825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HTOTh TEE 9 W ATe YOI ST feAEe v i,
T, TS T FIAS IS AR STAR 1 9 7 ?
(1) FETdE 9d
(2) SATHIEE =
(3) H=dE WA
(4) TgadF TG

Options:

648350465311
4535048532 2
64535046522, o
64535046524, 4

Question Number : 59 Question Id : 64635011825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HTAH AFE 9T T ATl T ST SAEe. e i,
TG, T T FIAR GUTCHS AN STER FEl 9 qifrs ?
(1) HrEeE T4
(2) SATHAGE
(3) H=AiE WA
(4) FF@IF 94

Options:
645350465511

EAE35046532. 2
E4E35046533. 3
64535046534, 4

Question Number : 60 Question Id : 64635011826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

uiTenes Sy 9T & 9 ?
(1) HgHrs 4
(2) T fosm greTe smaE gg e sy
(3) T gEtaifa safafaeam nfe sia
(4) deaTad TRg=s1 T g™ Higd g

Options:

64835046535, 1
4535048536 2
64535046537, o
64535046538, 4

Question Number : 60 Question Id : 64635011826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

FuiTenes Sy 9T & g ?
(1) Hgurf<s My
(2) T fosm gmeTe smaE gg Tie sy

3) F Evifa mufafieram tfaw ma
(4) deaTad TRg=s1 T HaE™ Higd Y

Options:

4835046535, 1
4535048536 2
64535046527, 5
64535046528, 4

Question Number : 61 Question Id : 64635011827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UfEicaenl HEIsE’ SR TEEM H493] 1 Tl a7 $4 8l ?
(1) =
(2) YR
(3) wrH

(4) zZeElagm

Options:
64535046559 1

E4E350468540. 2
E4E35046541. 3
EAE3504654%, 4

Question Number : 61 Question Id : 64635011827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TfEeasl FEIITE’ STTHR TG TRl ) TEeEeh! 9 6 8 2
(1) =
(2) I
(3) wRH

(4) ZeIfagm

Options:

E4E35046559. 1
64535046540, 2
64535046541, o
64535046542 4

Question Number : 62 Question Id : 64635011828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



FHATA HI-EH Tod TO88 Td TRl gl TogatT Uieead
AT THEh! TSRO 5 &1 2

(1) =feEm

(2) fiEme

(3) AW

(4) foEe
Options:
64535046543 1
64535046544 2
645350465545, 3
64535046546, 4

Question Number : 62 Question Id : 64635011828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FaATdl AI-EH Ted U8 e Wkl 9ol TogauT Ui
FiAuTE THEh! STEETOn H & 2

(1) =feEm

(2) @fEmE
(3) SAIHW
(4) fat=m
Options:

64535046543, 1
64535045544, 2
E4E35046545, 3
EAE3504654E. 4

Question Number : 63 Question Id : 64635011829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

d w sfwew f Aafefrea dwew’ dfids ow faim wh %=
STAITOTERT T2 <f=a B ?

(1) T T

(2) HragERl faEeE
(3) WafEfTRe arh=Tgd
COMREERILET

Options:

64535046547, 1
64535046548, 2
64535046549 2
4535048550 4



Question Number : 63 Question Id : 64635011829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

d w sfwew f Aaftfea dwew’ dfids ow fam wh %=
STATOTRT T2 <f=a 3 ?

(1) T T

(2) wrEgTR fageE
(3) HEERTFA Frh=Tg
(4) Tt

Options:

645350468547, 1
64535046548, 2
E4E35046549 =2
4535048550 4

Question Number : 64 Question Id : 64635011830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
i U fredae anme=m fagras fef snan & 8 2
(1) wr=deme
(2) TeTeETH
(3) wAIEEE
(4) TEmEfEEE

Options:

64635046551, 1
64535046552 2
64535046553 2
E4E35046554 4

Question Number : 64 Question Id : 64635011830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

118 U fFradue anmerer fagras fef snar & 8 2
(1) dr=edsme
(2) TeIeETH
(3) THIfaEE
(4) TR

Options:

64635046551, 1
64535046552 2
64535046553 =
64535046554 4



Question Number : 65 Question Id : 64635011831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TATTTH! FEHE HeTTIa WA AEEE 1 a0l 0ed Fi 1 U5 ?
() ia T aga

(@) T 1 SE-aEeh

(M) TEH 1 BEER

(=) A A
(1) =, %@,
2) @149
3) &, mMH
4) ,49,H

Options:
64535048555 1

E4E35046556. 2
E4E35046557. 3
64535046558, 4

Question Number : 65 Question Id : 64635011831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TeATTH! FEHE FHeTTIa WA SFgE 1 a0l el Fi B U5 ?
() ia T AgEa

(@) EIEH TSI

(M TEH 1 DEER

(=)  AMEH T AE
(1) =, @, T
(2) @ MH
@) %, T4
4 =, W@ H

Options:
4535046555 1

E4E35046556. 2
64535046557, 3
64535046558, 4

Question Number : 66 Question Id : 64635011832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sataa P Fam SW sEigs naE’ awa oe wa 7w
T T 7 2

(1) faam

(2) wraTEd

(3) wfiem

(4) fesre

Options:

4635046559, 1
64535046560, 2
64535046561, =
64535046562, 4

Question Number : 66 Question Id : 64635011832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tataa Fmives Fam IR sEige nfaaiy’ g o wa ge
skt 1 7 2

(1) femm

(2) @

(3) wtem

(4) fomme

Options:

64535046559, 1
64535046560, 2
4835046561, 2
64535046562, 4

Question Number : 67 Question Id : 64635011833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T 1980 R wEsmn sl et Tl 9 SR ST
MR T SR fom 2

(1) ga=g an
(2) wHEErs e

(3) Trratesen fase

(4) fasT aea
Options:
64535046563, 1
64635046564, 2
64635046565, 3
64635046566, 4



Question Number : 67 Question Id : 64635011833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T 1980 T wesmr A Sef=n Tl 7 SATEATERNH HAT
YR T TIRTH i ?

(1) ga=rzg e
(2) wHEEs foEet

(3) Teratdsen fase

(4) T uea
Options:
64635046563, 1
646535046564, 2
46535046565, 3
646535046566, 4

Question Number : 68 Question Id : 64635011834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 1986 Tt fafeen feemm wuie=st somon Fifa safm maa’ @
e # g 2

(1) vaM™ 99

(2) TEME e

(3) I BUA

(4) w99

Options:

4835046567, 1
4535048568, 2
64535046569, o
64535046570, 4

Question Number : 68 Question Id : 64635011834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
w1 1985 TR fafren feemm i = Bl st mae’ =
idem =1 &7 2
(1) ¥am 949H
(2) WM™ Hes1
(3) I DU
(4) = g

Options:
4535048567 1

E4E3504E6568. 2
E4E35046569. 3



EAE35046570. 4

Question Number : 69 Question Id : 64635011835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

aa fégus s i T o oeew fogem -
() TFIIEE Goa (i) TAYAE JUA
(@) fasmr=s (i) FEME
(m) fose Wem@a (i) meTE fauewd
(9) g MR (iv) SHRTAT
(D) (®)-v), @)=ii), (M), (@)
(2)  (®)=(iD), (@)—1), (M)—iv), (a)=(iii)
(3)  (®)=(iiD), (@)=(iv), (M=(ii), (=N)=(i)
4 (F)-(iv), (@)=(iiD), (M—(1), (=)—(ii)

Options:

64635046571, 1
64535046572 2
64535046573 o
4835046574 4

Question Number : 69 Question Id : 64635011835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qat fegueht emeaTaTe a1 fomen oree fagam -
(%) TG ZaA (i) THIAE TIL
(@) fasmr= (i) FEE
() faesd fea@ (i) wevRa fauewd
(9) ZIERTE ST (jv) UL
(1) (®)—(iv), (@)-(iii), (M), (7))
)  (®)=(iD), (@)—({1), (M)—iv), (7)=(iii)
(@) (®)(iid), (@)-v), (M-Gd, (=)0
@ (®)-(v), (@)ii), (M-{), (=F)=(i)

Options:

64635046571, 1
E4E3504E8572. 2
64535046572, 5
64535046574, 4

Question Number : 70 Question Id : 64635011836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEUEIT qUHd T&T Hith ILTIM Jul=Ecds Fa=aars ST §7
T3 i fom wfees 2

(1) sfagarers gfoem

(2) Tifgs sfEm

(3) THEHS FE™

(4) e st

Options:

64635046575, 1
64535046576, 2
64535046577, 2
64535046575, 4

Question Number : 70 Question Id : 64635011836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0 o o
TSR EE TET AR SR gafaeTs Seea o 5
Tt ufs fom wfes 2

(1) Eﬁﬁmﬂﬁf’cﬂ'ﬂ

(2) wifgs zform

(3) TS FfaE

(4) S s

Options:

645350468575, 1
64535046576, 2
E4E3504E8577. 2
64535046573, 4

Question Number : 71 Question Id : 64635011837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FTAFT O] TEEATE TTEHI TATT TSR Zfeeet qeleh! TAZERI STThN
T T B —
@) R
(@)
m TR
@) T

(1) 9, %, 9,7
(2) 9,49, %, T
3) MU, @ %
(4) =, 49,9,



Options:

645350468579, 1
4835046580, 2
4535048581, 2
64535046582, 4

Question Number : 71 Question Id : 64635011837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FATAFT TR TEATE TTEHAT TATT TATRT Zieeet qelehl TTHIgheh! S
T T FR —
@) fEEER
(@)
m ERR
(1) T
(1) @ % 9,7
(2) ®W,@, %, T
(3) MU,T®
4) * 9@,

Options:

645350468579, 1
64535046580, 2
64835046581, 2
64535046582, 4

Question Number : 72 Question Id : 64635011838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(F) M?mﬁaﬁﬁnﬁm%ﬁ%wﬁﬁmm
wE A
(@) TEH| I27F WIigeaH Th 68 TeidR T 2 |
iRt Ziaer e e frefafEa 7 5w w2
D) FrE@AFAR T A F F Pl = e
Q) Frhawg@ma
@) Twd F @A
) Rl 1T A F ® P = T

Options:

64835046583, 1
4535048584, 2
4535046585, 5
64535046586, 4



Question Number : 72 Question Id : 64635011838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(F) Mgmﬁa%ﬁnﬁm%ﬁ%wﬁﬁmm
R A |
(@) TEH ILTT Hifeea™l I e SRR T 7 |
MRt giaer srTEe enaT frfatea w5 W A 2
D) FrE@AFAR T A F F Pl = e
Q) Frhawg@ma
Q) wahaF @A
) @ FIT AT = T
Options:
E4E35046552 1
4525048554, 2

E4E3504E6585. 3
EAE35046586. 4

Question Number : 73 Question Id : 64635011839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Om e Y 39 | fed Nt B — 3 | W IR A " I
Rl |7 smret Sl 921 ameis e |
—  7H IZWM Iooi@ TREH D H A ?
(1) Ty AeTeftRt ‘Sefea’ 1 Fmen
(2)  wgmem g farmmad sust 2 — 6 w=m
(3)  TavavaTER HFUAR Taq dE — B
(4) o amER T —

Options:

4535046557 1
64535046588, 2
64535046589, o
64535046590, 4

Question Number : 73 Question Id : 64635011839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“IFT =Ee O B9 | Sifea IuEet © — B | W IR A e ot
FeEiea |7 AT B 987 B i |
— W IZWM Ieorg T B * A ?
(1) ey Arefient ‘wden’ 61 wuen
(2)  wyamE fhed SraeT suw 2 — & 9=
() favavaTERE SEUAE T@a dEl — 6 B
(4) g e T -

Options:

648350468587, 1
4535048588, 2
64535046589, o
64535046590, 4

Question Number : 74 Question Id : 64635011840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks:ZWrongMzirks:O
FEgLed! AT SER F 9 Fid 918 el wreeh Wik weTEe I
TR TArETenE A go favee vem wawm v fafgens tert st $A
wfga o 9 ?

(1) HFicne Afga

(2) TATEITHSE HiEd

(3) TONdek Higar
(4) @i Aizal

Options:

64535046591, 1
64535046592, 2
64535046593 2
E4E35046594 4

Question Number : 74 Question Id : 64635011840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEAl IR STER $ 9T Hid 918 mef e sk yeEe I
N JAhIcTs T 0o (99 ST yaw 7H fafaas iet e .
Higar A 3 ?

(1) i He

(2) SATEITES Higdl

(3) 7ML HiEaT
(4) wrelis gizan

Options:
645350465491 1



EAE35046592. 2
64535046553, 3
64535046554, 4

Question Number : 75 Question Id : 64635011841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T2’ bR 9dlies AW TEIEE R H 29 fatga =g faean
ITTEET JTelt STaTe® 1 fo 2

(1) e 99

(2) TIETE ST

(3) SEy=Eg b
(4) AT H9HI
Options:
C4EZE045595 1
E4EZE04E59E8. 2
C4E35046597. 2
C4EZE04E598. 4

Question Number : 75 Question Id : 64635011841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g’ qfEERT gEeE FHET YHRINE R H z9 fatga =g e
ITITEE TUTEAl A H Y ?

(1) 9TEmT 99

(2) TIETE S

(3) vEyeei=ER fig
(4) TATH HYRET
Options:
C4EZE045595 1
C4E35046598. 2
C4E3E0455597. 2
LdE25E0485958. 4

Question Number : 76 Question Id : 64635011842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
el INIfaeehl YT Iesh el Toale TF UL Jdihicis
T gel T A giaenns see F fRfiment e 81w v 2

(1) ¥l

(2) Tnd®

(3) WiEHlah

(4) =OEHCHh



Options:

64535046599, 1
E4E35046200. 2
4535046601, 2
64535046602, 4

Question Number : 76 Question Id : 64635011842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
el ASIfaSehl STURH Iesh Wfedsh Todale Od UL Td s
UaH gl WA A g e $9 fefiment vz @1 e v 2
(1) ¥l
(2) TmdE
(3) WEFHid®

(4) =TEHIHS
Options:
64535046599, 1
64535046600, 2
64535046601, =
E4E35046602. 4

Question Number : 77 Question Id : 64635011843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fafyer! sfogmm sif-am =onm fGefa @l F= 31 2

(1) ST
(2) 9IS
(3) 9T
4) =
Options:

64535046603, 1
E4E35046604, 2
E4E35046605. 3
E45350466806. 4

Question Number : 77 Question Id : 64635011843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feafient sfemmm sif-an wom fawfim faft w7 2 2

(1) A&
(2) HTETR
(3) @it
4) f==

Options:



E4E35046603. 1
645350466804, 2
645350466805, 3
64535046606, 4

Question Number : 78 Question Id : 64635011844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FUFR e fafire gER #1 AlieERead ITE T IHA S
FHATAT HEATR TR TUG=TEaTs STeia T+ feafdens © 9o ?

(1) faga

(2) ¥

(3) T
(4) farames
Options:

64535046607, 1
E4E35046608. 2
E4E35046600. 3
G4E535046610. 4

Question Number : 78 Question Id : 64635011844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FAHR AN Tafire y&r =l Afsieae g T@ WS e
HATAT TR FEH TR SRy T+ feafqas $ 9ts ?

(1) faga

(2)

(3) =EETHF
(4) fararere
Options:

64535046607, 1
64535046608, 2
64535046609, 3
E4E35046610. 4

Question Number : 79 Question Id : 64635011845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tggl Veggwel TMAE qA Wigfas o §F UewEnd  walw
Wmﬁmwaﬁm’ﬁwm%ﬁmaﬁ
2

(1) 9e® e firgr

(2) =yam! fagr

(3) fafmim

(4) wEAEE) g

Options:

64535046611, 1
64535046612, 2
48350466132 2
4535046514, 4

Question Number : 79 Question Id : 64635011845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tggl VeggEel TS qdr Wigfas o W3 UewEnd  walw
;@aﬁmmrﬁmﬁwaﬁm’ﬁwmﬁﬁﬁmﬁaﬂ
2

(1) e srgfhen g

(2) ®9amdl fagr

(3) fafmim

(4) HEAETE) frgra

Options:

4535046611,
64535046612,
64535046613,
4835046614,

[ N Y

Question Number : 80 Question Id : 64635011846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TUTEETe S Ul TqTell AT Tt S B FHIADR B g ?
(1) ifaeRrsit
(2) et o
(3) e

(4) it FeET

Options:

64535046615, 1
64535046616, 2
48350466817, 2
4535046818, 4



Question Number : 80 Question Id : 64635011846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TSI SR YiREl TuTelt FE Safi A # g g ?
(1) TferepTs
(2) TEEsE =R
(3) SEeE

(4) ff weET

Options:

4835046615, 1
E4E3504E6816. 2
64535046617, o
645350466158, 4

Question Number : 81 Question Id : 64635011847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
aa E3us AT Fid T e oEs =g 79 —
() =it wmi (i) eI
(@) TZa e (iiy I Tl
() YT BT (iiiy TTeq e faenta
CIESEE ISP (iv) Afem=fa
(1)  (&)=(iid), (@)-(iv), (m)—=(1), (=)—(ii)
(2)  (®)iv), (@)—(1), (m)—(ii), (=)—(iii)
(3) (®)-(iil), (@)-{v), (M-, (T)-()
Options:
CAE2E0466159. 1
c4c2E04e620. 2
cdo3E04e621. 2
LAdE2E04E0E22. 4

Question Number : 81 Question Id : 64635011847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e E3us ST Fid 1 e o =g 79 —
(%) gf@t omi (iy hered!
(@) WZa g (iiy TR et
() TSR TETA (iiiy ¥aa i fEenfe
(9) deny = (iv) Hfe=TE
(1)  (®)=(iid), (@)-iv), (m)—(1), (=F)—(ii)
2)  (@®)=(iv), (@)=(1), (M)~(ii), (=T)—(iii)
(3)  (&)-(ii), [@)—(iv), (m)=(ii), (N)—(i)
Options:
CAEZE04E6159. 1
425046620, 2

64535046621, 3
4535046622, 4

Question Number : 82 Question Id : 64635011848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FARS Al TAEHI ATEH{AH FETAES [Fola ifdwarn JETaEes
w9 T o g ?

(1) o3 ey

(2) TITE ARl

(3) I 3R

(4) TEEA Mes=H

Options:

64535046623, 1
4835046624, 2
64535046625, 5
64535046626, 4

Question Number : 82 Question Id : 64635011848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FAISS Wi TIHH HEHaH HETEGH Ao difawars AE-Tamgss!
T T g ® g ?
(1) G YT
(2) ATH THI
(3) =k SfEn
(4) GREA TesEH

Options:
64635046623, 1



EdE35046624. 2
64535046625, 3
BAE350466826. 4

Question Number : 83 Question Id : 64635011849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ML 221 et FAHAT - F1 e g 9 e 7 F7 8 2
(1) HF4R
(2) wamw
B) T8
(4) EFLUH

Options:

64535046627, 1
64535046628, 2
64535046629 2
E4E350466320. 4

Question Number : 83 Question Id : 64635011849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e Fel vfae werA 3 91 e & 9w e | = w ?
(1) HFFIR
(2) Ha®
(3) &%
(4) TITLUHA

Options:

64535046627, 1
64535046628, 2
64535046629 2
48350466520 4

Question Number : 84 Question Id : 64635011850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TIEHFR ATAF FAH Forl SFA1 TEREHTR TAE Tohl gD 2

(1) THEAHAR STH
(2) WYEE =

(3) AN TH
(4) fgogama 1

Options:
64835046631, 1
4535046632 2

E4E3504E8633. 3




EAE35046634. 4

Question Number : 84 Question Id : 64635011850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TTEHER ATAF HAA Fl TEAT TTEhHBHTH] TS &l a3 ?
(1) TEALHHAR 3T
(2) #AYHET &3
(3) FETEE T
@) e ™

Options:

4535046631, 1
64535046632, 2
64535046633 o
64535046634, 4

Question Number : 85 Question Id : 64635011851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U1 R |G A E R R G B et e o o e W 7 1o e 1
Tk TfEet STt @t utem 8 ?

(1) ger

(2) TE HEw

(3) @EO

(4) 3@

Options:

64535046635, 1
64535046636, 2
64535046637, 2
4835046638, 4

Question Number : 85 Question Id : 64635011851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tfasiie 1 TSaT=eE e ST o T Saar I
Tkt Tfget Surelt wfem’ utie $ 8 ?

(1) =eger

(2) TEl Haw

(3) @EO M

(4) I

Options:

64535046635, 1
E4E3504E636. 2
E4E3504E837. 2



EAE35046638. 4

Question Number : 86 Question Id : 64635011852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A 7 gEEeR! Jau 7ol vt afia @ ?
(1)
(2) AWl
(3) @ A
(4) e

Options:

64535046639, 1
64535046640, 2
E4E35046641. 2
64535046642, 4

Question Number : 86 Question Id : 64635011852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FMe Fm TENEEhl Jas IU 9 i T8 ?

(1) =i

(2) Il

(3) @ A

(4) #im

Options:

64535046639, 1
64535046640, 2
64535046641, =
E4E35046642 4

Question Number : 87 Question Id : 64635011853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tl AT % gErs ?

(1) gf=m e y=tad Aina e it sfas g

(2) U s ST gy gt Amee i fafy

(3) wfF=m “9Ter &= Aner M fafa

(4) ufv=m SaTem TH Eiesd ey e S e

Options:

64535046643, 1
64535046644, 2
4835046645 2
4535046646, 4



Question Number : 87 Question Id : 64635011853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T AT R
(1) gfv=m Sarern y=fad wina e it sfas T
(2) e aTd S Ay R e e R
(3) Ofv=m aTer &1 AT M faft
(4) fe=m e TE SiEwd ams fre) s we

Options:
E4e2E04E64=5 1

EdEzs04E6644, 2
E4535046645. 3
64535046646, 4

Question Number : 88 Question Id : 64635011854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T fafi e Sa i Tehes TooTTsg 7 A e [aseasnt
EEEREEAC S

() TSI (iy T
(@) o (i) T
(M) s (iii) THTEI
() wamwsg (iv) ¥TS

(1) (F)iD), (@)—1v), (M=), (=)—(iii)
2)  (&)(iid), (@)-q1), (m)—iv), (=)-(i)
(3)  (®)—iv), (@)=(iii), (M=), (=)—~1)
@ (®)-), (@i, (M=iv), (=)=(ii)

Options:

64535046647, 1
64535046648, 2
4835046649 2
4535046650, 4

Question Number : 88 Question Id : 64635011854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T Tafir weweR Ia o Tehes Toed1e] 3 A TE e
= T E -

(%) TSR (iy T
(@) Tsa (i) =
(m) =g (iii) THEI
(=) mEnmg (iv) Tﬁﬂﬁ

(1) (@)D, (@)—(iv), (M0, (=)-(iii)
(2) (&)il), (@)1, (M-{1v), (F)-(ii)
@) (F)=(iv), (@)=(ii), (m)=(ii), ()=
@ (F)=D), ([@)=ii), (M—(v), (=)—(ii)

Options:
E4e2E046647. 1

E4E35046648. 2
E4535046649. 3
64535046650, 4

Question Number : 89 Question Id : 64635011855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e = =1fe TUHAT T ATFFRAER B2 T IS T JAWA1 81 2
(1) Feet QAT T ATHHATH! SR AEAH! FHTATS I
(2) FAe AT T ATHHATH SR SEETAT3 HH
(3) FAA TURAT L ATHFATEATS Ao AquaTaTs I3 Agdqol H1€ Al
(4) TUHAT T AHHATER gdeh] HTTT TG TEIH D

Options:

64535046651, 1
4835046852, 2
64535046652, 5
64535046654, 4

Question Number : 89 Question Id : 64635011855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ded 7 FMfe TUHAT T ATRHATEN S T ISHT I3 Fr=an 7l 2
(1) Feet QAT T ATHHATH! SR AHAH! GHTATS T
(2) T THAT T ATHFATH] TGN AREIAT TH
(3) FAA TURAT L ATHHATATS A-Dh! Aq=aTaTs I3 Agdq0l H€ A
(4) TUHAT T ATHHATER gdeh] HETTT ol TERH T

Options:
64535046651, 1
64535046652, 2



EAE35046653. 3
64535046654, 4

Question Number : 90 Question Id : 64635011856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tifefaemm #@ fqueme w=ym frafafea med 7 fem € ¢
fiprTepl ‘SiaemEesl UF’ gromes] andam Bl e ?

(1) U S50y HTearss! 3™ Fd THisus oral a2 9 fammet faeh
gRM

@) Frege et Aglis e TiieTes 931 ged war faiee T
Ty M B, e wifeen 76 ar sefiga w1 e

(3) w9 Srea THAH! TAEIEN AT M, HEEH 25T 99 Has faudid
{0

(4) =AM ISw ETONIensS gl A1 SHTEElih giel Hd [
e 9 e faEm
Options:
E4EZE045655 1
C4E3E0466858. 2
CAEZE04EEET. 2
CAEZE04EEES. 4

Question Number : 90 Question Id : 64635011856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
mizcfagmEm s farme geim frefafga 7ed 39 fam § ¢
fErTeR Sfaemaet ten’ aromeR TmdaT G 2 2

(1) TH Socg HeaT-seh! 3(daT8 ®d ToISUH Hall S &l 97 fo=met fatH
T

) g TEte Aglaw T Wiecaens 931 gee HIa e T
stEmyg M 2, e wfzer 76 o ez @ 94 fEm

(3) 1 Srean THCTHl TAEIEN ST M, HAA 25T 99 A faudd

T

(4) TIRM ASH TETCNUIHE ILTTH MM SFEH gfeHT Ha [aameE
g B 9 faem
Options:
E4de35046655. 1
64535046656, 2
64535046657, o
64535046658, 4

Question Number : 91 Question Id : 64635011857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
w7y g fefed, feamm gl 3 endberrs o, figswreT, fisars,
fifeen THEm F=F27 || — 3T EWER 91 IF Tasd HHO T e
17

(1) e =

(2) wEHHE gawie
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Options:

4635046751, 1
64535046752, 2
64535046753 =
64535046754 4

Question Number : 114 Question 1d : 64635011880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fafy fererraest W&t 1 Geeaag 319 —
(1) Fafaf > smams faft > s faft > aiftts faf
(2) Teafaf > e faft > sarns faft > abies faf
(3) erermenss fafd > arfvie fafg > fafafr > waes &
(4) smarenes fafn > semem @&t > ot &y > feefaft

Options:

64835046751, 1
E4E3504E8752. 2
64535046752, o
64535046754, 4

Question Number : 115 Question Id : 64635011881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘It . wamR migge fia

g wg s St ot |
& HodTsh! Jdeh! 78 T ST9H $ FUR Tog 50 7

(1) FAEH RS Tgcl ATl M 7@ I Mt ooy

(2) Y& Teordl gRehs v o1l Fitesiba et Ig T Eg

(3) FHREH g FEUE TV g1 TR U @il Sdeern T e gt T
BEE]

(4) ¥ Head g TgH HRANT FATSAT faom uea W v

Options:

64535046755 1
64535046756, 2
64535046757, o
64535046758, 4

Question Number : 115 Question Id : 64635011881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘miEed I miggedl fia

gierm wg e St =
Y& HeoTsh! Jdeh! I8 AT ST $ HUR Tog 59 7

(1) FAESH! RS T30l 7T AR TE e mEew Ty

(2) Y& Teorol ghehst w3 a1l FhatzeiEa e Ig T ug

(3) FUEE g FEUR It g T fig el sgen wh faw gfim men
BLE]

(4) &7 Tode IS g FEaT FAEY fasy ared WeR o

Options:

64535046755, 1
64535046756, 2
64535046757, 2
4835046758 4

Question Number : 116 Question Id : 64635011882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HIEAETE! TEMfEiR S TUhl @1k TRl Tl ASTTTR 50T F
FUHE A ?

(1) ol Tan §=dd 1 3T STHER-siSamell  dimehaml
TAeIh] SNSTTTHT T TZam et TRt ™

(2) WFHA! HEAERE T3S SAEd U9 Samsier semmn yefhens
er

(3) WAl HEAEE! df EEd U9l WY SAel STYTEn ST
T HATEY TR

(4) TAH FSHA AT SAETTTH TIH! AR TS AT Tgheh!
qUA: STFHTT TR

Options:

64535046759, 1
E4E3504E7E0. 2
4535046761, 2

EAEZ504E67E62. 4

Question Number : 116 Question Id : 64635011882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HIEAETE TEMfEiR S JUshl ETh TRl Tl ACTTTH 50 F
F T A ?

(1) Wil Tan §=dd A1 3T THiERe-siSamell  drmehamhl
FYATah] ST TIR! Tgfam wEt TfeEt |

(2) WIEE HEAER] FA8S SARd T96 FRmEsiee sere ugfaes
ifer M

(3) WAl HEAEE! df EEd U9l WY SAel STYTEn ST
T HATEY TR

(4) TAH FSHA AT SAETTTH TIH! AR TS AT Tgheh!
qUA: STFHTT TR

Options:

64535046759, 1
E4E3504E7E0. 2
4535046761, 2

EAEZ504E67E62. 4

Question Number : 117 Question Id : 64635011883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qae waTEs (1T 1) &6 fer freed (3, @, W, @) et 39
fohedeh! =9 T 24 |

[ reEyfae Fia sttt mewar stfamd 249 |

II.  foeon weees gt wfdd |

@) TEHa Teagfae enfit anfes e sty w47 |

(@) TaueTm weaEn uie a1 Fiares T arta o7 |

M  wer-Frer = s arfieoe TeEmggfamn s = |
@) FREEE TCH Tehl g4, Faa HIEREE g3 |

(1) & At 9o

(2) A F HR

(3) had @ HaE

4) @ T
Options:

E4E3504E87ES. 1
EdE35046764. 2
64535046765, 3
64535046766, 4

Question Number : 117 Question 1d : 64635011883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
das wgTEs (11 II) oF fore e (&6, @, 7, o) "6t 39T
faepeaet =97 T W |

[ el Fia st merar afE 249 |

II. foueom weges g wfedr |

@) TEAA TSR T RS [N ey 5 |
@) T weegs uie el FRAEEm TR arfd 79 |

M wrer-frew it wmmfse arfieore Teaggfam S gIEs |
=) TGS T1eH Tehl 93871, Hddl HEEs 394 |

(1) & AF o5&

(2) A F a@

(3) %A T T

4) @At ad
Options:

64535046763, 1
64535046764, 2
E4E3504E87EE. 3
EAE35046766. 4



Question Number : 118 Question Id : 64635011884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“T78 T TrEg AeEn SISl T TR 3 E1E | Fiesh
ad 7 wdw Tfiw, ytE wfaa fma 2 9= T g |

TdieTeadal (Symbolism) &1 SESH A90 ARl STEes 797
FEAS Gls1gwuT il Jfaar 3 |7
S Teheh] T2 IT4H HIHI Gkl $ o= SA-d 55 ?

(1)  eeR-SEmTeR T

(2) drR-TETeR! Tidane

(3) WTR-IFITHT H=Iqal

(4) Wt T faeme s v e

Options:

E4E35046767. 1
64535046768, 2
64535046769, o
64535046770, 4

Question Number : 118 Question Id : 64635011884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“T78 T TrEg AeEn SISl T TR 3 E1E | Fiesh
ad 7 wdw Tfiw, ytE wfaa fma 2 9= T g |

TdieTeadal (Symbolism) &1 SESH A90 ARl STEes 797
FEAS Gls1gwuT il Jfaar 3 |7
S Teheh] T2 IT4H HIHI Gkl $ o= SA-d 55 ?

(1)  eeR-SEmTeR T

(2) drR-TETeR! Tidane

(3) WTR-IFITHT H=Iqal

(4) Wt T faeme s v e

Options:
E4E350467E7. 1

EAE3504E87ER. 2
E4E35046769. 3
BAE35046770. 4

Question Number : 119 Question Id : 64635011885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“gge iy O] Sual s T3t Tl RvT BiE | qefEs W,
a1 T qR Tk, MytE wfaamel fowmar g S e e |
TdtRedhdl  (Symbolism) @1 @M T el g T3t
FEAR Wi gl i o |7
TeTeRTeeRal Rl & & ?

(1) erergis TEmm 39 vaE T At seft

(2) I o1 e gemes fig ol vue sz ot waaet vFm T afafiieo

(3) KA ST ATCHT Ta1 THA HEAATATS FehiTh TEH D

(4) Teemenes st S, weEar qen g fafaea

Options:

48350468771,
E4E3504E877 2.
4535046773,
4535046774,

o LIRS

Question Number : 119 Question Id : 64635011885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Fe2 T ] wra eiteTal THT TRl 329 1 | Seitee Wi,
s 7 9dR T, eyl Ffaamn oS @ S TemE e |

TRl (Symbolism) @1 =W T ol SEes 79t
FEAF Wis-gean g gfdas 3 17
TeTeRTereRal TRl & & ?
(1) S T 39 Y2 T afte et
(2) o a1 o= gemes i o o weg a1 wgaeht wam 1 afafiesor
(3) THIGATH! STE(THT AR a1 FTHA BT ashilth TaM T
(4) Toamens smreRt S, weeaT aen erema fatara

Options:
E4AE2E04E771. 1

EAEZ504E6772. 2
EAE35046773. 3
64535046774, 4

Question Number : 120 Question Id : 64635011886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TR Shidgsehl Hidedsh] Toarga T e fraio w8 s faent
Z e AST TS TAE HTEe % T faweet = 2

(1) FATE=ATER SgUsHE

(2) TEEEER - ugh

(3) W& BT 9N

(4) wfg®! gga<l

Options:

64635046775, 1
64535046776, 2
64535046777, 2
E4E3504E77E. 4

Question Number : 120 Question Id : 64635011886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TS higgEe! Hideadl Toaigd 1 T Faie T #wam G
Tl DA ATy 9% Hlecl o Hl [GTHT B ?

(1) BUTEAT=HTS SGUsHH]

(2) TAEAER - e ugi

(3) wifeere! HT AR

(4) wifereh! Tga)

Options:

4835046775, 1
64535046776, 2
4535046777, o
64535046778, 4

Question Number : 121 Question Id : 64635011887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TiEfEE W el SEE g U8 | miiEel sfaeE dEeen
T 7G HEA TS THHT 5 7

(1) R TH A
(2) T 9o

(3) TEEa fERe
(4) UTH TTehrsrT

Options:

64535046779, 1
645350467380, 2
4835046721, 2
45350487322 4



Question Number : 121 Question Id : 64635011887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TiEfEE W el SEE g U8 | miiEel sfaeE dEeen

T 7G HEA TS THHT 5 7
(1) &R TH T
(2) T 9%
(3) TEEa e
(4) U9 TThieHT
Options:

645350467759, 1
64535046780, 2
64535046781, 3
64535046752, 4

Question Number : 122 Question Id : 64635011888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Fq TRl T a7, 3 weEnfd cEe g e @ |7 - 7|
TS Hell-aaaR Sl |ron yfafafey s ?
(1) Iy=IfaEEt
(2) ANEEHETE!

(3) SAtear
(4) herarel
Options:

E4E350467E3. 1
EdE35046784. 2
E4535046785. 3
64535046756, 4

Question Number : 122 Question 1d : 64635011888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“FY FHeATH! AN a B, A weEnfd e aw = 7 17 - 7|
TTE Hell- =t S aren sfafafem @y ?
(1) Iy=IfaEmEt
(2) HAfHEEETE

(3) SHETaEt
(4) wardme]
Options:

64535046753, 1
64535046754, 2
645350465785, 3



EAE35046756. 4

Question Number : 123 Question Id : 64635011889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hieeatl 3faemd dEwers Irae fasm Fuee S| o8 a8 Fear
feuert 2 |t =wae F T F g ?

(1) eTergTie Sefl, de Hean, e, B S

(2) YR, Fegarsiadr, TaEtaddr, Fo
(3) SfcaaTereRar, dTfeheral, EeiTerehdl, SATEATHAT

(4) dafhepdl, fohrag-dl, TEATgsgadl, Hellcaehdl

Options:

4835046787, 1
E4E3504E7EE. 2
645350467389, o
4535046790, 4

Question Number : 123 Question Id : 64635011889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fieeTtel 3faeTE oEweR 9nad fasm gme Sy 7R o  Hea®
fouem 97 | ft SEa T F FTE?

(1) eragiies sieft, g weg, wmarem, B s

(2) YR, Fegarsiadr, TaEiaddr, Fo

(3) SfcgaTereRar, dTfehehal, FiTerehdl, SATEATHSRAT

(4) duferepal, foprag-dl, TeaTgageal, Helcehdl

Options:

4835046787, 1
E4E3504E7EE. 2
645350467389, o
4535046790, 4

Question Number : 124 Question Id : 64635011890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1 FHE WG 7 A1 EET T FH! T Fh1 enaw mes 2
(1) g o fafy
(2) vz fafusnt sEmmgT TRl A T e e
(3) TR THTH HEA
(4) TFehed-TelTs Hal JHI0M T sjargenl =¥= T daresehl qieam

Options:
64535046791, 1
64535046732, 2




E4E350467393. 3
64535046734, 4

Question Number : 124 Question Id : 64635011890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F FE WG 7 A1 EET T FH! T Fwr enaw mies ?
(1) e fafe
(2) 7z fafaes sEimg FreETt e T S Eee
(3) T MU wwe
(4) TFEHCITIATS T AR 7T Sgreehl =77 1T Jergseh! afeam

Options:

64535046791, 1
E4E3504E7392. 2
45350467392 2
64535046794, 4

Question Number : 125 Question Id : 64635011891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“g 1 731 v mEaEe 9
v 1 =gl ufr gen miese o
TS, T4 |
T JAfEn o 71 T
an gEa 17
— Fd fa9T ool Flaarl 70 AN 99 TE™ 9 FHAT FE
feguat 21 2
(1) F= 7a’ a6
(2) WHTATE TIrEaEears
()  Z9R UsEE T BEAE
(4) e @y O=a’ aB

Options:

64535046795, 1
64535046796, 2
64535046737, 2
E4E350467398. 4

Question Number : 125 Question 1d : 64635011891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“g 1 7l oiv eaEe B

© 1) =gl af gen mimEe o
A<, ddS |

T, ATE1 AUl =1 T

]”

oI TETA
— Fg o9 Mool FHfHark TH AW W0 GEE W FHAE S
Tzt 21 2

1) Tz e’ a5

(2) WHTER TIHeEAT

()  ZIR Tz T’ FEAT

(4) e @y O=a’ aB

Options:

64535046795, 1
64535046796, 2
64535046737, 2
E4E350467398. 4

Question Number : 126 Question Id : 64635011892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

pcalearayicicea
HHEET U HThelgs HU IS ARPD
... T et g ame |

— qfY SR AR TEE TSieM Seo@ TRUH ‘SESET gl
HITHSNEE Bl 7 2

(1) ST Tediesm are 57 dari® TriEe

(2) TEWEITHE AT WA TEER S T

(3) TS ST WITaa%ehl SISOTAT T3] M-EH THIES

(4) favaggm FfEE TR AEH BUBies

Options:

4635046799, 1
64535046800, 2
64535046801, =
64535046802, 4

Question Number : 126 Question Id : 64635011892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘egenT hITT0] Srehehl
FUSET ZEU Hlhdlat W SMS AES]
.. UTramt 3= mre |
— qff TR FHaAw STEE TSieM Seo@ TRUH ‘ESET gu
HITHNEE Bl g 2
(1) TISHIE T Tedizsm ane 83T darE TriEs
(2) TETEA FEE WG THEEE S '
(3) TNE ST A-Ag%h! SISO Tk A0 THIEE
(4) Tavaggm HH TR AR FBHEE

Options:

64535046799, 1
64535046800, 2
E4E35046801. 2
4535048802, 4

Question Number : 127 Question Id : 64635011893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ZITH A6l MY -Tell HAq1 TEgs & ARGl T&F Uhatsh! =]
TRl B | oft SREe uew o9 F F 2

(1) SesigE Fened, Waummenssar, Feramereal, Srgamdal

(2) FHHTCAMA], HHaATG, THEdr, SemeEa

(3) W TedETE, AR, TfdamR, TaeaEs

(4) sEmEtia, fEgias, TaiETEE, Tndam

Options:

64535046803, 1
64535046804, 2
E4E35046805. 2
4535048806, 4

Question Number : 127 Question Id : 64635011893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ZITH A6l MY -Tell HAq1 TEgs & ARGl T&F Uhatsh! =]
TRl B | oft SREe uew o9 F F 2

(1) SAESgE g, Taumeresar, Feramensal, sagameasal
(2) FEHIEAFA], AHEEE, e, S

(3) TS Tendarg, FfasH, Waar, TeedaTEn

(4) EmEfia, faagiag, TeaeTae, s

Options:




E4E35046803. 1
64535046804, 2
64535046805, 3
64535046806, 4

Question Number : 128 Question Id : 64635011894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TRl YA, FaAE T ufassEl ofian e 5EAm a9
e F @ ?

(1) et ‘Tafiren aifm s’

(2)  dgTs T SH

(3)  yga=g Maws TR

(4) At gt T, T o wn’

Options:

4535046807, 1
64535046808, 2
64535046809, =
64535046810, 4

Question Number : 128 Question 1d : 64635011894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TERTCRl YA, 9aAE 1 wiassl ofian e 5 a9
e T &l ?

(1) mwvrer Tfiren sfam s

(2) vz T SE’

() ga=s Mars TR

(1) wrfgame g T, A @t g’

Options:

E4E35046507. 1
64535046808, 2
64535046809, o
64535046810, 4

Question Number : 129 Question Id : 64635011895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TR FURMTH A F-1 ST UM, Aidl T 91 @Y aFdl qrTe
TR fEsar Jehe g a1 TR SARAHTensh Seqfdenns & fs ?

(1) waw ggfd

(2) T =g g

(3) & =g g

(4) vareft sfersT vgf

Options:

646350465811, 1
64535046812, 2
64535046813 =
64535046514, 4

Question Number : 129 Question 1d : 64635011895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR FURETR HIEAA F- T I, A1 6 91 @Y gedl g
= fastoar Jehe g1 a1 i SAEes Teqfdaan ® 9its ?

(1) e wgfd

(2) T =fergT Tgha

(3) WO =g v

(4) watef =T vt

Options:

646350465811, 1
4835046812 2
64535046512 5
64535046814, 4

Question Number : 130 Question Id : 64635011896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Tarft 9 Bt I ? (% + @) O {0l F2 + FE e Aol 9
— AGHIEE ZahIcTehl TS’ HigdTsh! TH AT SSEE T
1 ‘g’ arfeRT TOTEESR g AT TR ‘S T g R g SRl Had
IS8 WA WIS Hl E ?

(1) PHRERT Sieft

(2) Frens s

(3) areft gadi

(4) F1 TH

Options:
64535046515, 1
64535046516, 2



EAE35046817. 3
64535046818, 4

Question Number : 130 Question Id : 64635011896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“farft 9 Bt I ? (% + @) 1 G0 F2 + FE TEEE GO B
— TALHIIHTE ZFehIcTERl TS FHigaTen! I8 SAH SvKes TEmgh &

1@ et TOTESeh! g @1 Tl ‘SN T AT I grg =a-Tehl Hga
UTES WA WA Hl F ?

(1) oI S
(2) freTs qms

(3) ot gad
(4) F1 T

Options:
4525048515 1

E4E35046816. 2
E4E35046817. 3
64535046818, 4

Question Number : 131 Question 1d : 64635011897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“forfew A TEA TNMEE ISEM TN, dEERE @S SO el
T A=t FUCH g1 Foganl BSel Hoddl §IST A | A U
2R a1 SRR YT-efisr (W=a-gaang) o |7 — g2t uE A
feraoft 51 ferert w=eem et &1 2

(1) =

(2) wuAfd

(3) ¥

(4) =@

Options:

48350465819, 1
E4E35048820. 2
64535046821, o
4535046822, 4

Question Number : 131 Question Id : 64635011897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“frfew Wam TaAd= TOMEE AW TR, dEwew f&E U e
HEX At FAUH 9G1 Fogen (GEHI HOT TS AT | A THICH
¥ a1 MR Umffen (Eeagaas) o |7 — sges T @
feoqoft 1 Ffae meafm et 7 2

(1) d=E

(2) wuAfd

(3) 9W

(4) =l

Options:

64635046519, 1
64535046820, 2
64535046821, 2
4835046822 4

Question Number : 132 Question Id : 64635011898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TriEty’ 1 TR #aTg @ FaTEeRl ST wIeisl a9l JiEca®
HdFT 8 ?

(1) g Faw

) ‘gfifers i

(3) = et 7an’

4) ‘syEfe’

Options:

64535046823, 1
64535046824, 2
64535046825 2
4835046826, 4

Question Number : 132 Question Id : 64635011898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TriEty’ 1 TR #aTg @ FaTEeRl ST wIeisl a9l JiEca®
HdFT 8 ?

(1) g Faw

) ‘gfifers i

(3) = et 7an’

4) ‘syEfe’

Options:
645350465823, 1



EdE35046824. 2
64535046825, 3
E4535046826. 4

Question Number : 133 Question 1d : 64635011899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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